
WIFI Smart Robot Car Kit
EVERYTHING YOU NEED  SKILL LEVEL BEGINNER

FOR YOUR FIRST  PROJECTSSMART ROBOT CAR



      Chassis 
       1 piece

Ultrasonic module
                   1 piece

Motor drive board
                  1 piece

            UNO board
                   1 piece

Deceleration DC motor 
                         4 pieces

    Servo 
2 pieces

    Wheel 
 4 pieces

Battery container 
                  1 piece

Servo accessory
                    2 set

Fastener 
 8 pieces

Ultrasonic bracket
                   1 piece

M3*30 screws 
              8 bars

M3*6 screws 
            6 bars

M3*30 socket screws 
                          2 bars

M3*6 socket screws 
                        6 bars

M2*10 screws 
              4 bars

PTZ self-tapping screws 
                                 1 set

   M3 nuts 
18 pieces

 M2 nuts 
4 pieces

M3*5*4 screws 
                2 bars

1

2

3 4

5

6

7

8

9

10

11 12 13 14 15 16

17 18 19 20 2221

23 24 25 26 27 28

M3*12 screws 
              2 bars

Download: http://www.uctronics.com/download/Amazon/K0071.zip
Website: http://www.uctronics.com         Email: sales@uctronics.com         Tel: +86 025 84271192

5 Pin line tracking module cable 
                                           1 piece

4 Pin ultrasonic module cable
                                       1 piece

Fixing tool 
          1 set

    Pan/Tilt/Zoom
                    1 set

Line tracking module
                        1 piece

Camera module 
               1 piece

            Wi adapter board
                               1 piece

            Wi core board 
                         1 piece

18cm 5 Pin cable
                 1 piece

Installation Guide Appendix


	页 1
	页 2

